013 - MOUNTING THE FAN

Take all the parts out of the bag labelled with 36.

Bend the FAN HOLDER as in the pictures below. The angles should be roughly the same.












A

Take the M3 bolt with an M3 washer.



Slide it through the fan and add the FAN HOLDER.




Add an M3 toothed washer and an M3 nut.




Take the M4 bolt and an M4 washer.

Slide it through the FAN HOLDER and mount it to the FAN HOLDER BRACKET you put earlier on the extruder arm with
an M4 nut and an M4 toothed washer.






Tighten this bolt, make sure that the FAN HOLDER is vertical.




Tighten the bolt on the fan, make sure that the fan is level.

Slide the FAN HOLDER BRACKET closer to the extruder and tighten it firmly.



i 11 LA

Place the wire as follows.







